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Section A (42x2=84 marks)
Questions 1 to 42 carry 2 marks each. For each' question, write

your answers in the spaces provided.

1.  Ring the objects in groups of 10. | c
Then count and write the total number of objects in the box. B

Answer:

‘ Rearrange the above numbers from the greatest to the |

smallest.
|

Greatest



3.  Complete the number bond.
Fill in the box with the correct answer.
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f

|

4. Write'thexmissing:numbers:in‘the 2 shapes to complete the
number pattern. : -

L, 71, 73, 77, 79

5. Colour the shortest tree.

6. 8 morethan40is |-

7. 78 + 3 =




4] —— -

9. Match 2 more pairsiof numbers that make 40. | o

10. Look at the picture. _
Write an addition sentence in the given box.
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11.

12,

13.

14.

15.

76 is 6 tens and | ones

ig’3 less than 42 -

’-45'+ 34 = | | l[

26 - 4 =

Draw an apple @ in the 4™ box.




16. Colour the 4" dog from the left.

A A

Left

17. Add the numbers: ,
' Then write the correct answer inthe box.

18. Some children-are standing in a line.

John is 7™ from the left but 3™ from the right.

There are ch_ildr‘en in the line.




19. Mother bought 25 strawberries.
She used 8 strawberries to bake a cake.
How many strawberries were not used?

strawberries were not used. -

20. Look at the picture. -
- Miss Lim is marking her pupils* work,
Who is third in the line?

[ is third in the line.




21.  Ring the floats to get groubs of 4 floats.

Thereare | grouﬁs of 4 floats. -

22. Name the shape of the shaded paﬁ‘r.

The shape of the shaded partisa




23. Look at the pattern.
What comes next?
Circle the correct answer in the box.

.%_,E:]f;__} B

24. Complete the following with a multiplication sentence.

3+3+3+43+3+3+3+3 = O’ =

25. Bala had 24 toy eqggs.
He put 4 toy eggs into each box.
How many boxes did he use altogether? -

DO
DOO
OOIO
DOO
DOO
DDO
ODO
OO0

He used boxes altogether.




26.

pineapple metal balls

R Each O sfand$ for 1 metal ball.-

The mass of the pineapple is metal balls.

27.

" The heaviest object is Box D



28.

a)  The robot is made up of ’ rectangles.

b) TItisalso made up of ‘ more triangles than squares.

ljmif B
eo. LU LT PI il ili
| S L
Strip A
Strip 8
Strip B is units shorter than Strip A.
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30. Use the numbers in the box to form
1 addition and 1 subtraction sentences .
Use each number only once.

9 7 4 10 5 17

L
el
* [JOL3

31. Mrs Tan -buys 10 stickers for her daughter.
Each sticker shows 2 rabbits.

How many. rabbits are there on the 10 stickers?

There are ’ K rabbits on the 10 stickers. -

il




32.

tin

Thereare 9 crabs in the tin and a few crabs outside.
. How many crabs are there altogether? -

Thereare | ‘crabsaltogether.

33: Jane shares 9 care bears with her 2 sisters.

Each child gets care bears.

34. Draw the missing shape in the box to complete the pattern.

o-\/~[]-0-1_ _ |-\/~|]-O
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33. strip of paper

[ - _ 6 ). -] | 8 D
The length of the strip of paper is the same as

the length of @

'~ 36. Each =p stands for 1 unit.

e e R e e S S B

pencil

- -

erdser ( >

- -
R N N e e e e e

ruler

The total length of the pencil and the eraser is

units longer than the ruler.

37. Rajuhad some story books.
He gave Billy 6 story books.
He had 13 story books left.
How many story books had he at first?

He had l story books at first.

13




38.

39.

Each [ stands for 1 unit.

The maSs....t_jf.,_/.i»s., - -~ +| ‘“units more than the mass‘_:'of"@

There are 18 corns in 6 groups.
Ali rearranges them. -

He puts them into groups of 9.
How many groups of 9 corns are there?

There are ‘ ’ groups of 9 corns.

14




Study the picture graph below and use it to answer
Questions 40, 41 and 42.

‘Our Favourite Toys
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Aeroplane

| Each @ stands for 1 child.

40. -fewer:children-likesplaying with balls than'trains. -

41. The least popu-lar toy is the |

42. The fotal number of children who like cars and dolls is
the same as the number of children who like playing

with

15



Section B (4X4=16 marks) » _
Questions 43 to 46 carry 4 marks each. For each quesfion, show .

your number sentence clearly in the space provided and write
your answer in the given box. '

43. Peter collected 90 sTamps ‘ .
Tim collected 5 sfamps less than Pe’rer
How many sTamps dtd Tun collect?

Tim collected { _ stamps.

44, Mary sold 8 cookies.
Susan sold 7 more cookies than Mary:
a) How many cookies did Susan sell?

She sold (j cookies.-

b) How many cookies did the two girls sell in all?

They sold ( cookies.

16




45. There are 2 curry puffs on a plate. _
How many curry puffs are there on 8 plates?

-
1

nere are | . ‘curry pufts on 8 plates,

46. There were 30 pupils-in_fhe class. 18 of them were boys.
a) How many girls were there?

~ There were _girls.

b) How many fewer girls than boys were there?

There were | fewer girls,than boys.

“x* End of Paper _-***‘

I must check
my work

carefully. N
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Answer Shreeals

1)33 - 2)85,63,37,13 3)8 4)69,71,73,75,77,79

6)48 7181 8141—->31—>29
9)1 & 39, 30 & 10 10)9+12=21 11)16 12)39
13)79 14)22

- “[\
13 Orow cn apple (_/ 1n the 4™ box.
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16) — —
19)17 20)Ravi 2433 22)aurcle
23)l ! 24)8 x 3=24 256 7618 27)8
28)a.6 b.3 29)8
30)a.10+7=17 b.9-kk=5 31)20 32314 33)3
34} Q 35)7 36)4 37)19 38)6
39)2 40)5 41)Doll 42}Aero ptane
43)90-5=85 44)a.8+7=15  b.8+15=23

45)8x2=16 46)a.30=18=12 b.18-12=6



